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There is a section break at the midpoint of the Grade 3 Mathematics test.




SAMPLE A

Carlos made this tally chart to record the chores done by 12 of the students in
his class.
Chores Done by Students

Number
of Students

Washing Dishes | |
Walking Dog L
Emptying Trash | |||

Chore

Cleaning Room |

Which chore was done by 5 students?

_ A Washing Dishes

B Walking Dog

/€ Emptying Trash

~ D Cleaning Room



SAMPLE B

Tus=7



Which number sentence will 9 + 6 = 15 help solve?

OA15-9=___
J B 15x9=___
@C15+9=
O D154+9=___
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Two sets of circles are shown.

sets O@OOOG@VOOVO@®
setT @O O@OO@VOOO

Which of the following correctly compares the fraction of circles shaded in Set S to the
fraction of circles shaded in Set T ?
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The place value model shown represents a number.
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What number is represented by this place value model?

O A 354
o B 454
o € 3,154

— D 4,054
3 of 40



Directions: Click and drag a number to each correct box in the table.

Round 5,647 to the places shown.

¢ Nearest thousand
¢ Nearest hundred
¢ Nearest ten

5,647
Rounded to the | Rounded to the | Rounded to the
Nearest Thousand| Nearest Hundred Nearest Ten
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Two packages of eggs are shown.

Which statement correctly compares the fraction of the number of eggs in Package P
to the fraction of the number of eggs in Package Q ?

3 8 9

OA <12 OC 13712
9 8 9

B 15”12 D513

5 of 40



Which shows the number 78,025 written in word form?

_ A Seven hundred eight thousand, two hundred fifty
— B Seven hundred eight thousand, twenty-five
i € Seventy-eight thousand, two hundred fifty

D Seventy-eight thousand, twenty-five
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This model is shaded to represent one whole.

Look at the following model.

SOPPPP

What number do the shaded parts in this model represent?

oA L

12

o U
12

B | =

o D 10 7 of 40
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Which nhumber sentence can be completed using the basic fact sentence3 x2 =6 ?
JA 12+-6=___
OB 65+3=__
UC 6x3=__

D 34+2=__
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Directions: Click and drag each selected symbol to a box.

Select the symbol that will make each number sentence true.

78

78

2,288

2,199
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In which group are exactly % of the shapes circles?

caQ 0000000 AAA

BOOOAAAAAAAA

cceQOO0O000AAA

e Q OO AAANAAN
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What number goes in the box to make this number sentence true?
63+ |=9
A B
- B7
JC 8

D9

11 of 40



This model is shaded to represent one whole.

These two models are each shaded to represent a fraction.

Model 1 Model 2

What is the sum of these two fractions?
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Which nhumber sentence best represents this set of flowers?

OB 32-8=_7_
OC8+4=_7
o D8+8=_2
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Kiku had a total of 35 plants at her store on Tuesday morning. During the day, she sold
26 of these plants and then received 136 new plants. At the end of the day, exactly
how many plants did Kiku have?

-~ A9
. B 61

~J € 145

- D 197
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This model is shaded to represent one whole.

These two models are each shaded to represent a fraction.

Model 1 Model 2

What is the difference between these two fractions?

oA 2 oc 10
8 16
oB b op 8
16 8
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Directions: Type your answer in the box.

A store has 57 packages of gum with 5 pieces of gum in each package. What is the
total number of pieces of gum in these packages?

—
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3,000 -285=_2

O A 2,285
) B 2,715
O € 2,815

D 3,285

18 of 40



Which of these is best represented by this number line?

' O A B I
-« ——T1

|
1 — T 1T 1 1
1 23456 7 8 91011121314151617 181920 21 22 23 24

= =

O A 24+4
O B24-4
JCb6+4
o D4x6

19 of 40



Directions: Click on a box to choose each multiplication fact you want to select. You must select all
correct multiplication facts.

Select each multiplication fact that equals 48.

20 of 40






The first section of the test ends here.




Alex worked for 5 hours raking leaves. How many minutes are equivalent to 5 hours?

A 500 minutes
— B 300 minutes
- € 150 minutes

~ D 120 minutes
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Harry drew a picture with the figures shown.

Which best describes the figures in this picture?

_ A Cubes
— B Squares
. € Rectangles

.. D Rectangular prisms
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Which is the most reasonable length of a bed?

_ A 6 feet
— B 6 inches
. € 6 meters

. D 6 centimeters
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Which is closest to the time shown on this clock?

J A 4:45

B 5:45

J € 9:05

D 9:25

24 of 40



Directions: Type your answer in the box.

What is the temperature on this thermometer?

25 of 40
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Jack built a tower of blocks as shown.

Which tower of blocks appears to be congruent to Jack’s tower of blocks?
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Franklin began selling lumber in the morning at the time shown on the clock.

He finished selling lumber three hours later. At what time did Franklin finish
selling lumber?

_ A 8:45 am.
_ B 9:45 am.
o € 10:45 AM.

= D 11:45 amM.
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What is the perimeter of the shaded figure on this grid?

— A 18 units

' B 19 units

~ € 22 units

~ D 24 units

Key:[ |=1 unit
—
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Christina has the money shown.

O....

lI.u.&?-..... I .flul

o I.'I'NT n‘.lﬂl-ﬁ‘“ 'h "

Exactly how much money does Christina have?

~ A $3.50 € $3.85

~ B $3.60 D $4.05
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Alfred drew two rays and a line segment in his geometry notebook. Which of these
could be the picture Alfred drew?

- B

A
]

A
Y
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Each side of this figure is the same length.

P

Key: — = 1 foot

Which measurement is closest to the perimeter of this figure?

_ A 5 feet
_ B 8 feet
_ € 10 feet

D 12 feet
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This chart shows the type of toy and color choices for a reward in a teacher’s basket.

Reward Choices

Type of
Toy

Blue
O Gold
Pink
Ak

Which shows all the possible outcomes for a reward using one type of toy and one color?
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This pattern repeats after the first four circles. Joanne removed two circles from this
repeating pattern.

00000000 __ 0000®

Which ordered set of circles did she remove?

A D@ cc @O
s @D 2 Q@
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Tia surveyed 14 students. She asked each student to choose one favorite food from

four choices. Which chart could show the data from Tia’s survey?

Favorite Foods
Number of
Food | Grudents
Pizza 6
Spaghetti 2
Hamburger 5
Salad 3
Favorite Foods
Number of
Food Students
Pizza 5
Spaghetti 4
Hamburger 3
Salad 2

i D

Favorite Foods

Number of
Food Students
Pizza 8
Spaghetti 4
Hamburger 6
Favorite Foods
Number of
Food Students
Pizza 6
Spaghetti 2
Hamburger 2
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This table shows the number of minutes it takes Kendal to run laps around a track.

Laps Around a Track
Total Number| Number of
of Laps Minutes
2 6
4 12
6 18
8 24

If the pattern in the table continues in the same way, which of the following should be
used to determine how many minutes it takes Kendal to run 10 laps?

- A 10x3
. B 10+6
) € 10+ 24

-~ D10x6
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Stephanie recorded the
number of inches of rainfall
in her city during 4 weeks.
The graph below shows
the results.

Rainfall
Week| Number of Inches
I |E5dS
2 [ENESESERE
3 [ ESESESLS
t  [EAESENE
Key:¢\y = 2 inches

Which bar graph shows the same information?
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Which humber sentence shows the use of the identity property of multiplication?

J A 5%x3=3x5
o B 54+0=5
J€C 441=5

D 1x5=5
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Look at this pattern.
1, 3, 9, 27, 81
Which describes the rule used in this pattern?
— A Divide by 9
. B Multiply by 3
‘. € Subtract 2

~ D Add 2

38 of 40



This line plot shows the number of points scored by students on a team.

Number of Team Points

4

>

e . .

X X
X X X
2 3 5
Each X represents 1 student.

What was the total number of points scored by the students?
-~ A 20
o B 19

J € 10

D8
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Directions: Click and drag 8 cards to the bag. You may use each card more than one time.

Debi will pick a card from the bag without looking. Place 8 cards in the bag to show
the likelihood of Debi picking a card with a star is equally likely as picking a card
with a heart.

Same-sized

40 of 40



Grade 3 Mathematics
Released Test Spring 2014

Answer Key
Item Type:
Multiple Choice
Test Sequence (MC) or Reporting . . .
Number Tt Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)
1 MC A 001 Number and Number Sense
2 MC D 001 Number and Number Sense
3 MC C 001 Number and Number Sense
4 TEI Answers must be placed in the correct order from left to right: 001 Number and Number Sense
6,000; 5,600; 5,650
Directions: Click and drag a number to each correct box in the table.
Round 5,647 to the places shown.
® Nearest thousand
o Nearest hundred
® Nearest ten
5,647 5,000 5,640
ded to the ded to the d to the
i k Ten
6,000 5,600 5,650
5 MC D 001 Number and Number Sense
6 MC D 001 Number and Number Sense
7 MC C 001 Number and Number Sense
8 MC B 001 Number and Number Sense

Grade 3 Mathematics

Page 1



Item Type:
Multiple Choice
Test Sequence (MC) or Reporting . . .
Number T Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)
9 TEI Answers must be placed in the correct order from left to right: equal sign (=), 001 Number and Number Sense
greater than symbol (>)
Directions: Click and drag each selected symbol to a box.
Select the symbeol that will make each number sentence true.
| 78 = |78 ‘ ‘z,zss 2,:.99|
[ >
| <
10 MC D 001 Number and Number Sense
11 MC B 002 Computation and Estimation
12 MC D 002 Computation and Estimation
13 MC A 002 Computation and Estimation
14 MC C 002 Computation and Estimation
15 MC A 002 Computation and Estimation

Grade 3 Mathematics
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Item Type:
Multiple Choice
Test Sequence (MC) or Reporting . . .
Number T Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)
16 TEI Typed response: 285 002 Computation and Estimation
Directions: Type your answer in the box.
A store has 57 packages of gum with 5 pieces of gum in each package. What is the
total number of pieces of gum in these packages?
285
17 MC B 002 Computation and Estimation
18 MC B 002 Computation and Estimation
19 MC D 002 Computation and Estimation

Grade 3 Mathematics
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Item Type:
Multiple Choice
Test Sequence (MC) or Reporting . . .
Number T Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)
20 TEI Answers: 12x4 (located in the first row, third column) and 8x6 (located in the 002 Computation and Estimation
second row, second column)
Both answers, and only these answers, must be selected.
Directions: Click on a box to choose each multiplication fact you want to select. You must select all
correct multiplication facts.
Select each multiplication fact that equals 48.
[ 4~8 | 6x9 [Ni2x4
[7x6 ] 8x6[[s5x8 ]
21 MC B 003 Measurement and Geometry
22 MC C 003 Measurement and Geometry
23 MC A 003 Measurement and Geometry

Grade 3 Mathematics
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Item Type:
Multiple Choice
Test Sequence (MC) or Reporting . . .
Number T Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)
24 MC A 003 Measurement and Geometry
25 TEI Typed Response: 84 003 Measurement and Geometry
Directions: Type your answer in the box.
What is the P ure on this ther er?

100

90

80

70

84 |°F

26 MC D 003 Measurement and Geometry
27 MC C 003 Measurement and Geometry
28 MC D 003 Measurement and Geometry
29 MC B 003 Measurement and Geometry
30 MC D 003 Measurement and Geometry
31 MC C 003 Measurement and Geometry

Grade 3 Mathematics
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Item Type:

The order of the cards in the bag does not matter.

Directions: Click and drag 8 cards to the bag. You may use each card more than one time.

Debi will pick a card from the bag without looking. Place 8 cards in the bag to show
the likelihood of Debi picking a card with a star is equally likely as picking a card
with a heart.

Multiple Choice
Test Sequence (MC) or Reporting . . .
Number T Correct Answer Crtsgr Reporting Category Description
Enhanced Item
(TEI)

32 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra
33 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra
34 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra
35 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
36 MC C 004 Probability, Statistics, Patterns, Functions, and Algebra
37 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra
38 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra
39 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
40 TEI There must be exactly 4 cards with a star and exactly 4 cards with a heart in the bag. 004 Probability, Statistics, Patterns, Functions, and Algebra

Note: There is a section break at the midpoint of the Grade 3 Mathematics test.
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Spring 2014 Released
Grade 3 Mathematics Standards of Learning Test
Total Raw Score to Scaled Score Conversion Table

Total Raw Score
If you get this many items

Total Scaled Score
Then your converted scaled score

correct: is:
0 0
1 134
2 174
3 199
4 217
5 232
6 245
7 256 A total raw score (left
8 266 column) is converted to a
9 275 total scaled score (right
10 284 column). The total scaled
11 292 score may range from 0 to
12 300 600.
13 307
14 314 A scaled score of 400 or
15 321 more means the student
16 328 passed the SOL test, while
17 335 a scaled score of 399 or
18 342 less means the student did
19 348 not pass the test. A scaled
20 355 score of 500 or more
21 362 indicates the student
22 368 passed the SOL test at an
23 375 advanced level.
24 382
25 389
26 396
27 404
28 412
29 420
30 428
31 437
32 447
33 458
34 470
35 484
36 500
37 519
38 546
39 589
40 600




548225 12345ABCDE Printed in the USA 1ISD6931



	VAMA040002.pdf
	VAMA050494.pdf
	VAMA050449.pdf
	VIMA060006.pdf
	VAMA060338.pdf
	VAMA050446.pdf
	VAMA050481.pdf
	VAMA032487.pdf
	VIMA060007.pdf
	VAMA032582.pdf
	VAMA030165.pdf
	VAMA050599.pdf
	VAMA043153.pdf
	VAMA061683.pdf
	VAMA050601.pdf
	VIMA060015.pdf
	VAMA050606.pdf
	VAMA013998.pdf
	VAMA060391.pdf
	VIMA060013.pdf
	VAMA042524.pdf
	VAMA052146.pdf
	VAMA043098.pdf
	VAMA050542.pdf
	VIMA060008.pdf
	VAMA052383.pdf
	VAMA052453.pdf
	VAMA062744.pdf
	VAMA041420.pdf
	VAMA061975.pdf
	VAMA061970.pdf
	VAMA052400.pdf
	VAMA050525.pdf
	VAMA052386.pdf
	VAMA022140.pdf
	VAMA032612.pdf
	VAMA052369.pdf
	VAMA050438.pdf
	VAMA050534.pdf
	VIMA060031.pdf



